
1044.01.1506

Assembly instructions 
DE

FR

NL

DA

SV

NO

Montageanleitung

Notice de Montage

Montage Instructies

Montagevejledning

Monteringsanvisning

Montasjeveiledning

FI

IT

CS

PL

SL

HU

Kokoonpano-ohjeet

Istruzioni di Montaggio

Montážní Návod 

Instrukcja Montażu

Navodila za Montažo

Szerelési útmutató

EN

HR

BS

RO

RU

UK

Skupština Upute

Skupština Uputstvo

Instrucţiuni de Asamblare

инструкция по монтажу

Інструкція по монтажу

SIrIUS DoUble Door KIt



2 044.01.1506

Item
No. Part Sect.

Ref.
Size
mm Quantity

2058 2R/L 1923 2

2075 1 1575 1

2076 1 1575 1

2089 1 619 1

2090 1 619 1

2092 1 37 2

2094 1 426 1

2096 1 619 2

2098 2R 1923 1

2099 2L 1923 1

3001 1
2 M6 x 12 23

3002 1
2 M6 32

5001 1 40 1

5002 1 40 1

6060 1 ø12/6 2

6070 1
2 ø13.5 32

7399 1
2 M6 x 12 7

* Included with Glazing

6601 3 1960 2

6602 3 1509 3

6605 3 610 8

6606 3 540 4

Item
No. Part Sect.

Ref.
Size
mm Quantity

1003 2R/L 3.5 x 16 32

1004 2R/L M4 x 16 4

1005 1 M6 x 40 2

1007 2R/L M4 4

1009 2R/L ø8/4 4

1010 1 32 2

1014 2R/L 25 4

1015 2R/L ø22 4

1020 3 8000 1

1047 1 1257 2

1059 2R/L 621 2

1060 2R/L 621 2

1061 2R/L 621 4

1062 2R/L 613 2

1111 2R/L 37.5 2

1112 2R/L 7.4 2

1113 2R/L 25 2

1500 2R/L M6 x 5 2

1515 2R/L M6 2

2005 2L 100 1

2006 2L 10 2

2021 2R/L 1923 2

2043 1 416 2



3

SiriuS DD Kit

044.01.1506

1

2101

2033 2033

2091

1.2

1.1

1.5

2075

2522

2096

1047
1.4

1.3

2089

2035

S4 S4

1.1 1.2

2075

2522
2089

2041

2092

1.5

2043 1047

1.6

2043

1010

6060

6070

1.8

2096

2075

3001/73993001/7399

1.6 1.8

1047

2096

2076

2090

2043 2043

2092 2092

1005
2x

1010
2x

1047
2x

2043
2x

2075
1x

2076
1x

2089
1x

2090
1x

2092
2x

2094
1x

2096
2x

3001
17x

3002
25x

5001
1x

5002
1x

6060
2x

6070
25x

7399
6x

1.3

3002

5002

1.4

2089

2075

3001

1.7
2094

1047

2048

1.7

2094



4

SiriuS DD Kit

044.01.1506

2r

 1003
 16x

 1004
 2x

 1007
 2x

 1009
 2x

 1014
 2x

 1015
 2x

 1059
 1x

 1060
 1x

 1061
 2x

 1062
 1x

 1111
 1x

 1112
 1x

 1113
 1x

1500
1x

1515
1x

 2005
 1x

 2006
 2x

 2021
 1x

 2058
 1x

 2098
 1x

3001
2x

3002
2x

6070
2x

5.2

1061

1059

1062

1060

5.2

5.5

2058 2098

5R.3

2006 2005

5.4
5.7

5.1

1014
1003

1060 5.2
1061

1003

5R.3

3001

3002

1062

1059

5.4
10621004

1015
1009

1007

2021

5.5

5.7
1015

5.6

1515
1500

2021

2058

1047

2058 2058

1111

1112

1113

2058

2098

5.1
5.6
5.8

5.8

1014

2021

2522

1003



5

SiriuS DD Kit

044.01.1506

2l

 1003
 16x

 1004
 2x

 1007
 2x

 1009
 2x

 1014
 2x

 1015
 2x

 1059
 1x

 1060
 1x

 1061
 2x

 1062
 1x

 1111
 1x

 1112
 1x

 1113
 1x

1500
1x

1515
1x

 2021
 1x

 2058
 1x

 2099
 1x

3001
2x

3002
3x

6070
2x

7399
1x

5.2

1061

1059

1062

1060

5.2

5.1
5.6
5.8

5.5

2099 2058

5.4
5.7

5.8

1014

2021

2522

1111

1112

1113

7399

1047

3002

5L.3

5.1

1014
1003

1060 5.2
1061

1003

5.4
1062 1004

1015
1009

1007

2021

5.5

5.7
1015

5.6

1515
1500

2021

2058

1047

2058 2058

2058

5L.3

3001

3002

1003

1062

1059

2099



6

SiriuS DD Kit

044.01.1506

3

  3.1   No.  3 mm   13000
D1 3679011 610 x 610 4
D2 3679141 610 x 540 2

D1

D2

1020
1x

D1

D1

D2

D1

66
05

66
05

66
05

66
05

66
01

66
01

66
02

66
02

6602

6602

66
06

66
06

66
06

66
06

66
05

66
05

66
05

66
05

3.2

6601-6606

1020 1020

6601-6606

*
6601

2x

6602
3x

6605
8x

6606
4x





8 044.01.1506

E.P.H. Schmidt u. Co. GmbH
Hoefkerstrasse 30
44149 Dortmund
Postfach 170163
44060 Dortmund
Deutschland
Tel.: +49 231 941655 0  
Fax: +49 231 941655 99
www.eph-schmidt.de  
verkauf@eph-schmidt.de

OPJ A/S
Volderslevvej 36 A 
5260 Odense S 
Danmark
Tel.: +45 66 15 10 30 
Fax: +45 66 15 00 84
www.opj.dk 
opj@opj.dk


